Breaking Roulette Exercise from Harrah’s Laughlin 000 5/17 — results in order left to right

Start with the dealer average of 0 so the
Number €000 is listed as the target in the upper
left corner for the target average and n/a in the

Scorecard segments results

@ ZTLM 12 upper left corner for the history distance. We
1 1 12 1 can start with a dual sight adjustment and play
[T | 2 €7MK Il and €25 MK Il with +1 adjustments. 24
— 1 1 ) chips total. The first result is the Number €27.
T : il The distance is +12. Remember , earning +524

1! chips to break even. Using that distance, we
] 3 3 switch to MK VIII to play €1 MK VIIL.
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The second result is the Number €1, earning
+$19, with a +12 movement, and an average of
24/2 which rounds to +12. Since the average
and history are equal, we will play consistent
and play €3 MK VIII.

Third spin: the result is the Number €24, earning
+$1 with a history of -3 and average =21/3 =
+7. Following the history, we play €23 MK VIII.

The fourth spin result is the Number €27, with a
history of -9 and average of 12/4 =+3. We earn
+$1 and continue on with the history and play
€15 MK VIIL
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Scorecard segments results

continued

The ball lands on the Number €32. Distiance = -
10, average 2/5 and earns +$1. Since we are in a
vulnerability, we use the history distance with
the target’s positive sight adjust and play €29
MK II and €26 MK II with +1 adjustments (24
chips total)

The next result lands on the Number €34, with a
net loss of -$6, distance = +8, average = 10/6.
Since the distance target was successful, we use
it to target the Number €23 and play €23 MK
VIIIL.

The ball lands on the Number €1, earning +$1,
distance = +14, average = 24/7. We stay
conservative and target the Number €7 and play
€7 MK II with a negative sight adjustment on
€20 MK II (24 chips).

The result of the spin is the Number €28,
distance = +9, average = 33/8, and breaks even.
Since we have a regular and positive average
and history, we can play on the history and target
the Number €15 and play €15 MK VIIIL.
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continued

Scorecard segments results

The ball lands on the Number €21 earning +$19,
distance +12, and average +35/9. The next target
will be the Number €23 and we play €23 MK
VIIL

The ball lands on the Number €25 which fails
and loses -$17, distance = +2, average = +37/10.
Stay conservative and target the Number €34

and play €34 MK VIII.
— 11 ]
[ b | ] 1]
] b 2 10 The ball lands on the Number €34. We are back
[ 15 | B! 10 earning +$19 profit, distance +2, average =
3 7 11 —| +39/11. With a distance of +2 we target the
E ) 7 By Number €27 and play €27 MK VIII

The spin result is the Number €7, earning +$1,
distance =-17, average =22/12. Next target the
Number €11 and play €11 MK VIII.
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continued

Scorecard segments results

The ball lands on the Number €000. We earn
+$1, distance +6, and average = +28/13.
Distance +6 targets the Number €21 and play
€21 MK VIIL

The next result lands on the Number €0, with
distance -1 , average = +27/14, earning +$1.
Staying conservative, target the Number €26 and
play €26 MK VIII.
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— 0,_ 1 2 The final spin of this exercise moves the ball -1
[ 32 ] ) 6I_Zﬁ_ 36 | again and lands on the Number €26. Earns +$19
——— 15 with a final average of +26/15.

This exercise ends with a +$60 profit. Make sure to use the 000 +1 adjustment and add or subtract
+2 from the movements that pass over the Number €0. When the average and history are close
together that can justify aggressive action, but as they move apart stay with the conservative
patterns,
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